o3

O

gooo oo oooo oo O oo

o000 ooo oo g 000 0O000=The woman came to her friend’s house and

is talking.
*OO =000000000=came and ...

* te-form is often used to join sentences or to mean ‘by (means of) doing [0 , with doing [ .

And it is sometimes used to show reason as well. /

ooo

00O =yesterday /

oooo

000 =friend + 0 <subject particle> /

O O

000 0000 =000 0 00 OO0 =came to stay = <plain-style-past-affirmative> of

000 O OO0 (come to stay)

* [masu-form] O 5 000 gl =gotodo I

* [masu-form] O 5 00O g3 =cometodol

* [masu-form] O DDDD 00 g1 =go back (return) to do U /

O00=0000000=0 and.....

*O O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun]
da’becomes ‘na’.)]0 O 0O’=

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;

because .....
- [0 can be changedto 0./
oo o oo o

0000 00 =0000 OO0 =isnot neat and tidy = <plain-style-nonpast-negative> of
0000 000 (be neat and tidy)
*00000 g1 =be putin order, be cleared away



* [te-form] O O OO0 =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
O00=1but 2<usedtoshow a hesitation>/

DDD O0O0O=lesspolitethan OO0 OO0 O =please enter

*O000 gl =enter,goin//

Yesterday, my friend came to stay and my room is not neat and tidy yet, but please come

F1:
00 O = Ah! (expression of surprise, recollection, etc.), Oh!/

00 00 O0=But(lam OK to talk to you) here. //

oo
00 00 O0OUJ=Because | go home immediately.
* [0 0O = <plain-style-nonpast-affirmative> of O 00 O O g1 = return, go back //

ooo0O=errr,/

00 DDD 5 00 DDD = the book which (X) borrowed the other day /

0 OO = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’becomes ‘na’.)| 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changedto 1./

O0O0O=1but 2 <used toshow a hesitation>/

ooono =alittle/

DDDD gpoobods= DDDD OO0O00000D0ODOO=toone’s regret, (X) got torn and .....
*O00 0000 =000 0000 =toone’s regret, (X) got torn = <plain-style-past-
affirmative>of 0 00 OO 0O OO =to one’s regret, (X) get torn

*O0000 g2=gettorn

*[te-form] DO O OO g1 =1toone’s regret, he does 0 2 finish doing O completely
*[O te shimaimasu - O chaimasu

*[ de shimaimasu - [0 jaimasu



* te-form is often used to join sentences or to mean ‘by (means of) doing 0 , with doing [ .
And it is sometimes used to show reason as well. //

Errr, regarding the book which | borrowed the other day, it got torn a little, so (I want to
apologize.)

F2:
0 O = What? Really? <used to express surprise>

oooo

00 0O = <plain-style> of 0 0 0 OO = Really? Is is true? //

F1:
OO00O=Yes,/

OO0 000 =this page /
0 OO = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun]
da’becomes ‘na’.)] 0 O0O’'=

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [ can be changed to (I . /

OOO=1but 2<usedto show a hesitation> //

F2:
O O O = Ah! (expression of surprise, recollection, etc.), Oh!/

O00=Yes.OK./
OO0 000 OO0 =if (X)is like this
*O 0 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] O O =if [J

<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/

oooooo

0 0O O O = <plain-style-nonpast-affirmative> of 0 O 0 00 0 = (X) is all right, no problem
* Oh, OK. If it is like this, it is all right.

00O 0O = <plain-style-nonpast-affirmative> of [ O J [J (can read, be able to read) which is
the potential-verb of 0 0 O O g1 (read) /



0 O = [plain-style] 0 =0 and O, because 0, 0 and what’'t more [J, not only [J but also
[0 <often used to list reasons>
[0 We can use the polite-style right before [0 to be more polite. //

Because | can read, and what’s more ....

F1:
oooo
0000 =<plain-style>of 0 0 OO O = Really? Is it true?

0000 O =hereafter, after this time, after this + 0 <topic particle> /
[}
00 000 = <plain-style-nonpast-affirmative>of 0 00 OO 0O O g2 = be careful, pay

attention, take care /
U OO =because I //

| will be more careful from now.

F2:
O000=VYes. OK./

0 0 = <plain-style-nonpast-affirmative>of 000 0 =1 Itisgood. 2Iltis OK. 3 Dont

mention about it anymore.
00=...., you know? ; ..... | tell you. ; ..... , | am convinced. //

00 O O = Hey, ; Come on, ; Excuse me, /

DDDDD =0J000000=enterand .....

* DDD [0 = <plain-style-nonpast-affirmative> of 0 0 00 0 g1 = enter and ...

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
0000 OO0 =coffee or something /

5 OO0 O0D00OD0O0O =<plain-style> of 5 0d 5 00000 =Why dont you drink coffee or

something and go (leave the place)? <invitation>
*000 =0000000=drink and ....

* [0 0 =<plain-style-nonpast-affirmative> of 0 00 0 O g1 = drink
* [te-form] O O OO0 =1 be doing now 2 <situation, state> 3 <habitual repeated action>



* The negative-question can be used to show the invitation. //

Hey, Why don’t you come in, drink coffee or something and go?

F1:
00 0000=Thank you. //

gooo oa oooo

gooo oon D U D 0do D 000 OO0 =For what purpose did the woman come
to her friend’s house?

* [masu-form] O ED 00O gl =gotodo U

* [masu-form] O D 00 g3 =cometodol

* [masu-form] O D 000 g1 =go back (return) to do [0 //

ooo

oo d D 0 = <pla|n style>of 00 O 00O 0O0O = She came to apologize.
* [masu-form] O D 000 gl =gotodo

* [masu-form] O 5 00O g3 =cometodol

* [masu-form] O DDDD 00O g1 =go back (return) to do O /

oo

00 D 00 D O =<plain-style>of 00 OO O O0O0O0O = She came to borrow a book.
* [masu-form] O D 000 gl=gotodo [

* [masu-form] O 5 00O g3 =cometodol

* [masu-form] O DDDD 00O g1 =go back (return) to do 0 /

oood O 5 0 =<plain-style>of 000 0O OO0 O =She came to stay.
** [masu-form] O 5 000 gl =gotodo [

* [masu-form] O 5 00O g3 =cometodol

* [masu-form] O DDDD 00O g1 =go back (return) todo O /



4

goood 5D g ED =<plain-style>of 0000 OO O O00O0OO = She came to drink
coffee.

* [masu-form] O 5 000 gl =gotodo I

* [masu-form] O D 00 g3 =cometodo

* [masu-form] O D 000 g1 =go back (return) to do [0 /

O 0o0ooooao

Odoooooooooao D 00 OO0 00 = (You) are listening to the massage of the
answering machine.

O00000000 O00=Hello, | am Tanaka.
*OO =1but 2 <used to show a hesitation> //

oood=errr,/

Oooo

00 =tomorrow /

DDDDD O = for (the purpose of) a movie /

ED O0 00000 =00000 000 00 =itwas decided that (X) would go =
<plain-style-past-affirmative>of 00 OO O OO0 OO0O (ltis decided that (X) go)

* OO = <plain-style-nonpast-affirmative> of [l 0 J J g1 =go

* [dictionary-from / nai-form] O 0 O O OO O =it will be decided that [, it has been
decided that [

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
0 =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

O0=....,isntit?7; ..... , am | right? <confirmation particle> //

Errr, it was decided that we would go to see a movie tomorrow, right?

O00=but/

ooo

00O =suddenly



goooooao

00 O =business trip /

DDDD gooods= DDDD O0000D00O0D0O=toone’s regret, (X) entered and ....

* DDD oodoo = DDD 00 0000 =toone’s regret, (X) entered = <plain-style-past-
affirmative>of 0 00 OO0 OO (to one’s regret, (X) enter)

*0000 g1 =enter,goin, comein

**Jte-form] D OO OO g1 =1toone’s regret, he does [ 2 finish doing [0 completely
*O te shimaimasu - O chaimasu

*[0 de shimaimasu - O jaimasu//

But, | was suddenly ordered to go on (make) a business trip, so ....

0 00O 0O = because of that /

DDD [0 = <plain-style-nonpast-affirmative>of 0 00O =1bebad 21am sorry/

O 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changedto 0./

OO00O=1but 2 <used to show a hesitation>/

DEDED = next week /

o/

OO0 0000 0O 00 =<plain-style>sof U0 D000 O OO00OO =(X)maydo U and

(Y) receive a favor from (X)
*OoOOd g3=do

*(Y)DO (X) O [te-form] O OO OO = (X) do O and (Y) receive a favor from (X), (Y) have
(X) do O

*[te-form] 0 O0O0O0O =maydo [, itis OKto do [

*(A) O [stem of i-adjective] 0 00O 0, (A) O [stem of na-adjective] 0 0 0 O = make (A)

[adjective]
*(A) O [noun] O O OO = make (A) [noun]

*[noun] O O O O = decide on [noun], choose [noun], order [noun]

ooooo

*000 OO0 =decide on next week, do [1 next week, make (the day) next week,
change (the day) next week /



000 =[[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] 0 O = ...... ) |
wonder? //
Because of that, | am sorry, but is it OK for you to change the day to next week?

(we change the day to next week and may | receive a favor from you? ; May | receive a
favor from you? The favor is ‘changing the day to next week’.)

DDDD 0 =fromme/

DDD O O =invited = <plain-style-past-affirmative> of 0 O [0 O g1 (invite, call for, ask, induce)
0 O O = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 O = 1 although
O, inspiteof 0 2inorderto O /

OO00O0O=less politethan OO 0O OO0 =1am sorry. //

Although | am the one who invited you, (I cannot make it), so | am sorry.

O
000 OO 0= Because | will treat you after a movie, (please forgive

me).
*0 00 =feast, treating (someone)

*00000 =<plain-style-nonpast-affirmative> of 0 0 O O 00 O g3 (treat someone to a
meal) //

ooo

JO0000 0DO00O0 O0=Then, I will telephone you again.
* 0000 =<plain-style-nonpast-affirmative> of 0 0 0 00 0 = make a phone call,
telephone)

oooo

0 00O O = less polite than O O O = really, truly /
000 OO0=lesspolitethan 000 OO0 OO=1amsorry. //

ooo oooo a

oo
000D b0 0D 00 b0 0 0D0O000=Whatis the thing which Mr Tanaka wants

to say most?
*O 0O 00O =<plain-style-nonpast-affirmative>of J 0 [0 0O O = want to say

*[masu-form] 0 00 0O =wanttodo O //



goooooao

o0 0O D 00 OO =togo on a business trip
* OO = <plain-style-nonpast-affirmative> of [ 0 J O g1 =go
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

2
Oooao

ERERN DD DD DDD 000 OO0 =to wantyou to change the day when you go to see

a movie with him
* 00O = <plain-style-nonpast-affirmative>of [ 0 J J g1 =go

*000 000 = <plain-style-nonpast-affirmative>of 0 00 00O OO O = want (a person)

to change
*0000 g2 =change

*[te-form] O O 00O O =want (a person) todo O /

:DBDDD Oooo

000 O0000 00 =to treat you to a meal

*0 00 =feast, treating (someone)

*00000 =<plain-style-nonpast-affirmative> of 0 0 O O 00 O g3 (treat someone to a

meal) //

4
ooo

OO0 0000 00 =to telephone again

*0 000 =<plain-style-nonpast-affirmative> of 0 O 00 O O = make a phone call,

telephone)

Oooo oOooo ooo oooao

O0ooobo ooooo D 00 OO0 00O =The male student and the woman are talking
together.

O oooo o

DDD 0 0O O O = next Sunday /

0 00O = with everybody, we all /

DD 0 =sea+ U <arrival party>/

5 OO0 =let’s go = volitional-form of 0 U O 0 g1 (go) and less politethan D O OO OO /
OO0 =000

*(X)O OO (Y)=(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement
the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

o@d OZ



ooo

0 0O =talk, speech + [0 <subject particle>/

O 0O = <plain-style-nonpast-affirmative> of 0 0 O O g1 (there is O, have, exist) /

-0 oon DDDDD 0000 =(X)is saying that ....., (X) is talking that ....

O 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]

da’becomes ‘na’.)] 0 OO’ =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changedto 0./

OO0O=1but 2 <usedto show a hesitation> //

We are talking that we go to the sea next Sunday.

oo
00 =The sea?/
00O 0O O = <plain-style-nonpast-affirmative>of 0 0 0 0 O = (X) is good. //

oo
00 0O 0O = <plain-style-nonpast-affirmative> of 0 0 0 0O OO = (X) looks fun

(enjoyable)
* [masu-form / stem of i-adjective / stem of na-adjective] O 0 [0 [0 =it looks like that (1,

(X) is going to do [ at any moment //

M:
OO0O=VYes./

ooo

oo
OO0 000 00O OO =We will do fireworks at the sea (beach) as well.
*00(0)00 =<plain-style-nonpast-affirmative> of 0 O (O ) O O O = do fireworks //



O

0000 =<plain-style-nonpast-affirmative> of 0 J [J [J O (can come, be able to come)
which is the potential-verb of 0 O O g3 (come) /

o/

Can you come? (Are you able to come?)

F:

oooo gooao

00O 0O 0O = <plain-style-nonpast-affirmative> of U 0 0 O O O = (X) looks interesting
(fun)

* [masu-form / stem of i-adjective / stem of na-adjective] 0 0 0O O =it looks like that O,
(X) is going to do [ at any moment //

ooao oooo a

000000 0000 O OO0 = But, next Sunday, right?
* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 0 [0’ =

is (are, am)
*O =...., you know? ; ..... | tell you. ; ..... , | am convinced.
O0=....,isntit?7; ..... , am | right? <confirmation particle> //

oooo

000 =on Monday /

0000 =test+ 0 <subject particle> /

O 0O = <plain-style-nonpast-affirmative> of J [0 O O g1 (there is U, have, exist) /

00O 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun]
da’becomes ‘na’.)]0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ..... — [0 can be changedto O . //

There is a test on Monday.

0000 =test+ [ <subject particle> /
00000 =ifthereis not O
*0 000 =<plain-style-past-nagative> of 0 O [0 0 g1 (there is [0, have, exist)



* [plain-style-past] [0 =if O <affirmative>, if  <negative>, when (X) do U, after (X) do I,
(X) did O and | tell you what happened /

5 0 OO = <plain-style-nonpast-affirmative>of 0 00 OO0 0O =wantto go

*Imasu-form] 0 00 0O =wanttodo O /

O 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’becomes ‘na’.)]0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ..... — [0 can be changedto ./

OOO=1but 2 <usedto show a hesitation> //

If there is no test, | want to go.

D:D O
000 =on Saturday /
0000 =if (X) do his best

*O0 000 =<plain-style-past-affirmative> of J O [J O O g1 (do one’s best)

]

[}

M
u]
U
]
U

* [plain-style-past] O =if O <affirmative>, if J <negative>, when (X) do O, after (X) do I,
(X) did O and I tell you what happened /

0000 00 =(X) is all right. No problem.

* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 0 I’ =

is (are, am) //
If you do your best on Saturday, it will be all right.

F:
O000=hmm, well //

ooao ooao

000 000 =(X)is the subject (of study) which (Y) is weak at, (X) is one’s weak subject
* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] [0 [0’ =

is (are, am) /
OO0 =because [ /

oooo

0000 =0000 =if (X) is one day



*[noun] O O + the expression which shows the negativeness = if U ,
O00 000=00000 0000 =<plain-style>of 000 OO0 O0OOOO =may be

tight (intense ; hard, severe ; harsh ; stern, strict)
*OO 00000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] [J

O 00000 =maydo O, maybe do O //

If | try to study in one day, it may be hard.

00 =again/

00O =nexttime/

DDDD O0O=less politethan 0 OO O0OO O = please invite
*0000 g1 =1invite,ask 2callfor 3induce 4 tempt//

Please invite me again next time.

0oo00 OOooo oooo a

00000 0000 DDDD ED OO0 000000 DDDDD 000 00O=Whatis the
woman thinking about going to the sea on Sunday?

* 5 0 OO0 =togo, going

* [0 0O = <plain-style-nonpast-affirmative>of 0 0 0 O g1 =go

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). //

oo
00 000 =<plain-style-nonpast-affirmative>of 0 0 0O 0O OO = (X) looks enjoyable

(fun)
* [masu-form / stem of i-adjective / stem of na-adjective] O 0 0 O =it looks like that O,

(X) is going to do O at any moment /

00O 0O = because I /

5 0O 000D0 =<plain-style-nonpast-affirmative>of 0 0 00 0O OO O =intend to go
* [0 0O = <plain-style-nonpast-affirmative>of 0 0 0 O g1 =go

* [dictionary-form / nai-form] 0 0 O O O =intend to do [0, don’t intend to do O //

Because it looks enjoyable, she intends to go.



oo
00 000 =<plain-style-nonpast-affirmative>of O O 0 O OO = (X) looks enjoyable

(fun)
* [masu-form / stem of i-adjective / stem of na-adjective] 0 0 0O O =it looks like that O,

(X) is going to do [J at any moment /

O0=but/

O

0000 =dont go = <plain-style-nonpast-negative> of [0 [0 0 O g1 (go) //

It looks enjoyable, but she will not go.

oooo

000 =interest + [0 <subject particle>/
0O 0O =don’t have = <plain-style-nonpast-negative> of [1 J J [J g1 (there is [, have,

exist) /
00O 0O = because O

O
0000 =don’t go = <plain-style-nonpast-negative> of [J [1 0 O g1 (go) //

Because she is not interested in it, she will not go.

oooo

000 =interest + [0 <topic particle>/
0 0O =don’t have = <plain-style-nonpast-negative> of (1 U J I g1 (there is U, have,

exist) /
0O 0O=but/

O

OO0 O00D0D0 = <plain-style-nonpast-affirmative>of O 0 OO 0O 0O O =intend to go
* [0 0O = <plain-style-nonpast-affirmative>of 0 0 0 O g1 =go

* [dictionary-form / nai-form] 00 0 O O O =intend to do [0, don’t intend to do O //

She is not interested in it, but she intends to go.

gooo oa ooo oa goooo goooo ]

0000 0000 000 000 OO0 O000=The woman is asking the man about

the impression of the trip. & //



ooooo

0 0O 0O = weekends /

oooo

00O 0O =for (the purpose of) a trip /

]

000 OO =wentand came back = <plain-style-past-affirmative>of 0 00 OO OO (go

and will be back)
*0000 gl =go

* [te-form] O O O = 1. go there to do .... and will be back

2. start to do, begin to do
3. (with the past tense,) have been doing ... so far
0 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]

da’becomes ‘na’.)] 0 O0O’'=

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [ can be changed to (I . /

00 =0 <quotation particle>

*[O 0O atthe end of the sentence is often used to mean, ‘| hear that O , | heard that O ’,
‘They say that (1, People say that (1, /(X) say that 00 °. /

a /

| heard that you went on a trip. Am | correct?

ooooo

0 00O =parents + [ <direct-object particle> /

oooo

000 =ahot spring + I <arrival particle>/
O O
000 OO0 =took someone along = <plain-style-past-affirmativesof 0 00 OO 0O O

g1 (take someone along) /
00 O O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]

da’becomes ‘na’.)] 0 OO’ =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to . //

| took my parents to a hot spring.



O
00 O O0O=ltis the season that cherry blossoms are beautiful, and what’s

more ....
* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 0 I’ =

is (are, am)
* [plain-style] 0 O =00 and O, because [, [ and what’t more [1, not only [0 but also [

<often used to list reasons>
[0 We can use the polite-style right before [0 to be more polite.

O0=....,isntit?7; ..... , am | right? <confirmation particle> //

ooooo ooo

O000 OD0OD0O 0O0000OJ=Probably your parents would be delighted.
*[0 00 =was delighted = <plain-style-past-affirmative> of 0 0 0 00 g1 (be delighted, be
glad, be pleased, be happy) //

M:

OOd0O=Yes./

O00=but/

O

000 O =overthere + I <topic particle> /
00O = already /

ood ood

O0000=0000000000=(X)iswarmand ....

* [stem of i-adjective] O O 0 = <plain-style> of [stem of i-adjective] 0 O 0O O O =was [
* To join the sentence which ends with [i- adjective / na-adjective / noun] [J [0 ’ to another
sentence, ‘[stem of i-adjective] [0 00 or [stem of na-adjective / noun] I ’is used .

We call them te-form of an adjective and a noun.

To join adjectives, we also use te-form of an adjective.

And it is sometimes used to show reason as well. te-form of an adjective and a noun can
be used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] O O, ‘[stem of i-adjective] O ’ is also used to be more

formal. /



ooo

0 0O =cherry blossoms + [ <topic particle> /

0000 =almost, mostly /

5 000 O =0000 00 =was finishing = <plain-style-past-affirmative> of 0 0 0 O O
00O (be finishing now)

*0000D0g1 =finish, end

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
0 O = [plain-style] 0 0 = [0 and 0, because O, O and what’'t more [0, not only [J but
also J <often used to list reasons>

DDD D\é\/ﬂe can use the polite-style right before [ to be more polite. /

000 OO =because it was a holiday,
* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] 00 [0’

is (are, am) /

DDDDDDDDD O0=0000 00 =0000 0000000 =there was a traffic jam and .....
*0000 OO0 =there was a traffic jam = <plain-style-past-affirmative>of 0 0 00 0O [
0 =there is a traffic jam now

*00000 g3 =-congest, crowd, become clogged

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action>

* * te-form is often used to join sentences or to mean ‘by (means of) doing O, with doing

O ’. And it is sometimes used to show reason as well. //

But, that place was already warm and most of cherry blossoms have fallen, and what’s
more there was a traffic jam because it was a holiday, so (I had a hard time.)

F:
0000=<plain-style>of 00000 =1see.; Is that so?

oooo

oo DDDD O =if (X) enter a hot spring

*0 00 =if (X) enter =conditional-form of 0 O O O g1 (enter) /

DDDD [0 =tiredness + [0 <subject>/

5 0 0O = <plain-style-nonpast-affirmative> of O [0 00 I (can take, be able to take) which is
the potential-verb of 0 0 O O g1 (take)

[0 <quotation particle> /

DDD 00 O =000 00 =was thinking = <plain-style-past-affirmative>of 0 00O 0O 0O O

(be thinking now)
*0000 g1 =think



* [te-form] O O OO0 =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
O O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to [J . /

O00O=1but 2<used to show a hesitation>/

DDD O =1+ 0 <topic particle>/

00O =1 consecutively, throughout, all the way, all the time 2 much [adjective] /

DDDDDD 00O 0O =was driving

* [na-adjective, noun] O O 00 = (X) was [ = <plain-style-past-affirmative> of ‘[na-adjective,
noun] O 00’ =is (are, am)

00O =because U

O0=...,isntit?7; ..... , am | right? <confirmation particle> //

| was thinking that my tiredness would be removed if | enter a hot spring. Because | was
driving all the way.

F:

00 0O 0= Oh, like that .... (used to express a variety of emotions (delight, relief, surprise
or contempt))

good

00000 O0O=You had a tough time.

* [na-adjective, noun] O O 00 = (X) was [J = <plain-style-past-affirmative> of ‘[na-adjective,
noun] 0 O’ =is (are, am) /

M:

00 =but/

0 O O = you might say /

ooooo

000 =parents + I <topic particle> /

oo

0000 O =after along time /

D000 000 =0000 00000000 =couldrelax and ....

*0000 OO0 =could relax = <plain-style-past-affirmative>of 0 000 O OO O (can
relax, be able to relax) which is the potential-verb of 0 0 00 O 0O O g3 (relax, do O

slowly) /
0000 =was good = <plain-style-past-affirmative> of 1 0 0 O (be good) /



00 =0 <quotation particle> /

5 OO0 000 =(X)said O and he gave me favor, (X) said [J for me = <plain-style-past-
affirmative>of OO0 OO0OO ((X) say O and he gave me a favor. (X) say [0 for me)
*O000 g1 =say

*X)U D000 O [tesforml]00 00 =(X)do O and (X) give me a favor, (X) do [ for

me /
O OO =because O //

But, you might say, because my parents said to me that they were able to relax after a
long time and it was good, (I am happy.)

E. 0 O = then, if that is the case, /

00 O =that + O <subject particle>/

DDD DDD = No.1, best/

00 0O 00O = <plain-style> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be
omitted.)| 00 OOOODO O’ =..... , don’t you think so? ; ..... , | want to confirm with you //

Then, that is the best thing, don’t you think so?

M:
00O 0O 0= You might say.

gooo oo gooo

oo
0000 0DDOO0000 OO0 000 O0O0O00=Whatitthe man thinking about the trip?

ooo 0ooo O

OO0 OD00O00000 =Cherry blossoms were beautiful and it was good.
*O0000=0000000000=(X) was beautiful and .....

* [na-adjective, noun] 0 O 00 = (X) was [ = <plain-style-past-affirmative> of ‘[na-adjective,
noun] OO0’ =is (are, am)

* To join the sentence which ends with ‘[i- adjective / na-adjective / noun] [0 [I ’ to another
sentence, ‘[stem of i-adjective] 00 O or [stem of na-adjective / noun] O’ is used .

We call them te-form of an adjective and a noun.

To join adjectives, we also use te-form of an adjective.

And it is sometimes used to show reason as well. te-form of an adjective and a noun can
be used in either the nonpast sentence or the past sentence.



* In addition to ‘[stem of i-adjective] I [, [stem of i-adjective] [1 ’is also used to be more

formal. /
* [stem of i-adjective] O O [0 = <plain-style> of [stem of i-adjective] D 0 0 00 =was O //

oooo

oo n] ]
OO0 00 0O DO0O000000 =Histiredness was removed in the hot spring and it was

good.
*O000=00000000 =could take and ....

*0 00 =could take = <plain-style-past-affirmative> of [ [0 0 [J (can take, be able to
take) which is the potential-verb of 0 0 O 0O g1 (take)
* te-form is often used to join sentences or to mean ‘by (means of) doing [0 , with doing [ .

And it is sometimes used to show reason as well.
* [stem of i-adjective] O O 00 = <plain-style> of [stem of i-adjective] O 0 0 00 =was O //

ooooo

oon DDDD 0ood 5 00 00ODO =Because his parents got tired, it was not good.

*O 00 =gottired = <plain-style-past-affirmative> of [ U O [0 g2 (get tired)

*O 0O =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] J O = because
0

* Basically we use the plain-style right before ‘CJ [I°, however, we can use the polite-style

to be more formal.
* [stem of i-adjective] 0 0 00 0 O =was not [J = <plain-style-past-negative> of [i-

adjective] O O //

ooooo oooo O

000 O00DDODODOO0O0O =His parents was satisfied and it was good.
*O0000=000000000 = got satisfaction and ....
* 0000 =got satisfaction = <plain-style-past-affirmative> of 0 0 00 O [J g3 (gat

satisfaction, be satisfied)
* [stem of i-adjective] O O 0 = <plain-style> of [stem of i-adjective] D 0 O O O =was [ //



